Materials:

Boltingframe: Aluminum
Glassframe: Stainless steel
Screwinglist: Stainless steel
Hinge pins: Stainless steel
U-Sealant: Rubber
Glasspane: Toughened glass,
tested acc. to ISO 614

Hole in plate

e

W2

H2

/AA

A

Screws: Stainless steel DIN 966, M6x16/M6x20

Fasteners: Stainless steel

Sliding expander: Stainless steel

(

5 30 21
» T
s | |
‘oY H
el | W_ |
A // Ui
=180\ 2%
T
NN \; -~
o e X
[ =
W \.Y/ !
: =
= 2
o
A-A st

J

R1+40, - - R1+4Q
40 0 .1
i I
3+
&
.f.
+
Al 4| R4
| M <
Ml < | =
| | R4
i R
.f
W1 A
+.
|
2 S S S +T 4
E
M6x20 with extra list
«with 8 fasteners
No | Nominal size |Hole in plate| Radius | Glass thick.| Screws and list
W1xH1 W2xH2 R1 | R2 |type Ejtype F | type E | type F
1 500x710 552x762 [100 |126 | 15 10 M6x16 | M6x16
2 560x800 612x852  [100 [126] 15 10 M6x16 | M6x16
3] 900x630 | 952x682 100 [126] 19 | 12 [uihexiaf mex1e
2 1000x710 | 10524762 [100 [126] 19 | 12 [iex®ea T mexts
5% 1100800 1152x852  |100 |126 -1 15 - M6x20/2
Drawn: Data:
PROMAP Ltd Skemski__| 01-04-201 56
' Titl o L .
"“Outside hinged window OTW] 1503903
W<Q@omNﬁN _UD_|>ZU Tel: +48 52 3216131 Fax: +48 52 3764726 | AutoCAD file no.
! Email : promap@promap.eu WHB-04.1




